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e et - 1

Note : - Answer the all questions. Question Number 1 & 2 have internal choice. Question Number 3
has four short answer type questions of 3 marks each, out of these you are required to answer any two

questions.

sl o3 & 3T QTS | 9% §E&T 1 9 2 A AR =T T glaur § | T 9H 7 3
BT | IH TEAT 3 A 4 THRICHS 95 & T Icdeh 3 3 & 8, SI & 3Ienr fohegl 2 Tl
& IR AT |

Note — Answer the following questions in 500 words.Each question carry 7 marks.

ATt f@d g%t & 3T Yoo Usal H ST | Tcdeh I 7 3 &l ¢ |
Explain the objectives of Demand Forecasting.
HiaT Jalefollel & 32T ST |
Or
Discuss the analysis of consumer behavior conditions of uncertainty.

JfAPRTAr T 2T F IYNHT TagR [FEWoT T e S |

Or
Describe the Law of Variable Proportions.

aRaceelier 3eardt & foes # faduer v |

Or
Explain the causes of Internal Economies.

IedRe Adeaaanit F HRUT dBT |
Attempt any two questions in 150 words each. Each question carry3 marks.
foregal ar 98t & 3R AT, UAF T T 3R 290 ereal & QAT | 9+ 9% 3 3+
HE |
Explain the meaning and characteristics of Monopoly.
THIfOHR & 3 U9 AT ST |
What do you know about the opportunity cost ? Explain its importance.
3T ARTd & SR H 39 T SAId g ? SHH HAged 9d8U|
Write a note on Classical Theory of Interest.
1T & gfafl¥d RBgid ©X v feouoh fadiv |

Explain the Concept of Social Justice given by Rawls.

T FT iATOS =T [BETd HSST |




M. A. (Previous) Economics /TH.U. 37 ('-'@rl?)
Economic Theory — 1 / 3% fAgid -1
Course Code : MAEC - 01 UISTHHA FIS- TATSH- 01
Max.Marks : 20 / '«'{UﬁT:F 120
Internal Assignment -2 / 3aRe& ?FL?TIW -2

Note : - Answer the all questions. Question Number 1 & 2 have internal choice. Question Number 3 has
four short answer type questions of 3 marks each , out of these you are required to answer any two

questions.

el 9 & IR QAT 9 FEAT 19 2 A I’ARS TAT HT AT § | T Ak TH 7 3 A
€ | U HEAT 3 A 4 AYHIcHS FH &, I Ucdsh 3 3 & g, SAH & 39! Tohool 2 95 &
IR E |

Note :- Answer the following questions in 500 words. Each question carry 7 marks.

fAFafaf@ad g4t & 3aX 500 ereat # ST | T 957 3 & ¢ |
Discuss the Paretian Optimality Conditions.
qReT HI SEAH QT FHI qrEar Y |
Or
Describe the Ricardian Rent Theory .

Reprst & ot fagia $r sarear Hifaw |
Discuss the Price Determination in short run under imperfect conditions.
31t Sfafaar @ 3t 7 euwre 7 HAT AR S e Hifav |

Or
Explain the Returns to Scale.

AATT & Gidher & fad=er Hifev |

Attempt any two questions in 150 words each. Each question carry 3 marks.

fohegr &l 94 & 3R GIAT, Ucdeh T8 &l 3 Yo Usal H ST | Ucdsh W4T 3 37
w8 |
1 Explain the importance of elasticity of demand.
ART $T & HT FAged qdBT|
2 Discuss the Marginal Productivity Theory of Wages.
Aol fAuRer & dAed 3cugewar fRgia asT |
3 Describe the Kaldor's compensation criterion.
HlesN & &Tfaqfd gl &1 faduer Hifaw |

4 Explain the characteristics of Monopolistic Competition.

TSRS fadfEar S faRvdare sasy |
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Note : - Answer the all questions. Question Number 1 & 2 have internal choice. Question Number 3
has four short answer type questions of 3 marks each, out of these you are required to answer any two

questions.

el 9 & IR ATAT | 97 AT 1 2 A ARG A T AT § | T dh 95 7 3
HE | TH TEAT 3 A 4 THRICHD 95 8 T IcAh 3 3 & 8, g1 § 39l fovegl 2 oot
F 3R A E |

Note — Answer the following questions in 500 words. Each question carry 7 marks.

farfaf@a g%t & 3% 500 ereat 7 ST | 9w 95 7 37 F ¢ |
Discuss the production function, labour market and the supply side of national income.
3cUTGel Weled, #H SR U9 TR 3T & qfdvat $r earedr S |
Or
Describe the Modern Theory of Rent.

S & 3o i i faauer fifsw |
What do you mean by the Balance Budget Multiplier Explain with examples.
T SoTe U @ ITIhT AT ITAUT §? 3STEX0T deohd T HIfSIT |

Or
Explain the Joan Robinsons Model of Economic Growth.

3MF [ & ST AfNeqT & Alsed & TR & FdBT |

Attempt any two questions in 150 words each. Each question carry 3 Marks.

foheel af 4T & 3R SIS, Tl W FT 30X 150 Al H SIfAT | 9AF 94 3 37F

HE |
1 Describe the role of Monetary Policy in Developing Countries.
faeraefier geit # #Alfge Afd $r fFewr Fr g ffST |
2 How calculate the GDP? Explain.
Hehel BXe] 3cUIG T 0T HF I ST § ? HASST |
3 Explain the Harrod-Domer Model
EUS-3IFX Al & aX H FASSY |
4 What is Philips Curve? Discuss .

frforca as &1 § ? carear fifaw |
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Note : - Answer the all questions. Question Number 1 & 2 have internal choice. Question Number 3

has four short answer type questions of 3 marks each, out of these you are required to answer any two questions.

ol 95t o 3R QTSC | 9 @& 1 9 2 A AR T B Fiaur | TS 9H 7 3R
H §| TN TEAT3 A 4 THRCHS TH 8, T Ycdeh 3 37 & | 398 & 39el Tohogl 2 Tt
& 3T A § |

Note — Answer the following questions in 500 words. Each question carry 7 marks.

AT g4t & 3% 500 &gl H SITST | 9l U4 7 3 & o |

1 Explain the meaning and relationship between the Gross National Product(GNP), Net National
Product(NNP)and National Income (NI).

ool UL 3cdTe (ane),faRlg TR 3cUTe (Nwp)Td ITET 3TI(N1) i HGEROT Ud
SAH ITIHT Faed FT faaaer HIfSv|

Or
Describe the functions of money.

Hal & Sl & faaeer HfSw |
Or
2 Critically Examine the effect of Government expenditure and taxes on multiplier.

R TUT AP TG HT AUTeh N HFATT FeITd FI MTelTelallcaen TI&Tor HIfST |

Or
Explain the role of Fiscal Policy in developing economies in the economic growth.

faerasher Tgt # i dafe & 9| wE A TSR HAifd & Ferer Hr earedn

ST |
3 Attempt any two questions in 150 words each. Each question carry 3 marks.
FIer ar T & 30X STV, Ycdeh U &l 3R 150 U@l H GITaIT | Tl U4 3 37
HE |
1 Explain the Mahalanobis Model of economic growth .
3eer TG & HTelAd Hisel T qUI HIToIT |
2 How does inflation affect the process of economic growth?
HAeTERTT 3 g &1 afsmar &1 fFe yaR & gefad a3 § |
3 Point out the differences between Classical and Keynesian theory of employment.
WRERT TF Fed & AR BGd AT FAe=Iar FI Iasv |
4 Describe the functions of money.

TeT % it B R BT
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Note : - Answer the all questions. Question Number 1 & 2 have internal choice. Question Number 3
has four short answer type questions of 3 marks each, out of these you are required to answer any two

questions.

el oAt & 3T QTS | 99 F&a1 1 9 2 A RS I S Gaum § | Tedeh G4 7 b
BT | IH TEAT 3 A 4 THRICHS T 8, T Icdeh 3 3 & §| 398 & 3Tahr fohogl 2 Tt
& IR AT |

Note — Answer the following questions in 500 words.Each question carry 7 marks.

Afaf@a 9%t & 3% 500 gl H SITAT [Tl 95 7 37 &l ¢ |

Discuss the economic effects of Public Expenditure.

Qrdolieleh <ag & e gsImal &7 sarear Hifav|

Or
Describe the economic role of the state in mixed economy.

fafa srdegaear # g $r s yfawr @rsmsU|
Explain the characteristics of a good tax system.
T TS AT YOIl I AATATT TSy |

Or
Examine the usefulness of cost benefit analysis in the selection of public projects.

Ap IRASTA3N F TIT FH P ST FATOT Y IueIAar F1 96T ST |

Attempt any two questions in 150 words each. All questions carry 3 marks each.

foreel &l I8 & 3 SISIT, Tcdeh U4 T 30X 150 esal H SIfST | IS 94 3 3ih

HE |

1 Discuss the objectives of public finance.
qp [T & 32T Fr e fifaw)

2 Explain the importance of multiple theory
U gl #T Aged TS|

3 Describe the Important Indirect Taxes.
HAgcaqul 39cgel w0 T fadwer Hifag

4 Discuss the merits and demerits of Direct Taxes.

YegeT S & 0T Ud aISt i earear |
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o S

Note : - Answer the all questions. Question Number 1 & 2 have internal choice. Question Number 3
has four short answer type questions of 3 marks each, out of these you are required to answer any two

questions.

Tt oAl & 3R QAT / 94 FE&aT 1 T 2 A IARE T H AT & IAS GH 7 3
€ | I HEAT 3 A 4 TYRICAS TF §| T Ichh 3 31 & §, ST @ 39! fohogl 2 w8t &
3RS B |

Note — Answer the following questions in 500 words.Each question carry 7 marks.

fAeIfarf@d 9% & 3dX 500 el & SIfSIT|UcAS T 7 37 & ¢ |

Explain the efficient pricing of demerit goods.

3raeqor aTRE SEQT & Hed FUROT F IR 7 AU |
Or

Describe the Time Series Criterion for investment.

foraer & o srer Aot fr FAKET HT carEdr ST |
Discuss the benefit theory of taxation.
FUTT & oA & [Agrd $r <arear Hifav |

Or
Write an essay on the sources of Savings.

g9d Fdl W TH @ fof@e |
Attempt any two questions in 150 words each. Each question carry 3 marks.

ar gl & 3R SITST, YAP U& T 3aX 150 Asal | SITAAT | Tl U4 3 37 T g

1 Explain the partial equilibrium analysis in incidence of taxes.
ST # 3h Tl AT & a0 F FASSC

2 Discuss the Classical Theory of Public Debt.
Ardeifae HOT & FEATT Bgia Hr sarear fifaw|

3 Describe the progressivity of personal taxes.
sl &t i geiATar f fagTer fifET)

4 Explain the deductions to be made in computing total income.

el 3T AT AT el H HT Sl dTell HS AT TATSU |
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Note : - Answer the all questions. Question Number 1 & 2 have internal choice. Question Number 3
has four short answer type questions of 3 marks each. Out of these you are required to answer any two

questions.

sl o3t & 3 QAT | 9% G119 2 A IAARS 9hT dr glaur § GAw GH 7 3 H
€ | T HEAT 3 A 4 TYRICHS TF T Tl 3 3ih & § | 390 § 39 Tohodl 2 94T &
3RS E |

Note — Answer the following questions in 500 words.Each question carry 7 marks.

ffaf@a 9%t & 3R 500 Use # ST | U I 7 37F F ¢ |

1 Discuss the various types of functions.
Belall o [dffiee] YhRT ST ITEIT HIFAT |
Or
Differentiate the following.

FAff@a &1 aead HIfST -

1 y = (2x-3)(5x+2)(3x-4)
2 y = (2x2-6x)(2x+1)(x-7)
3 y = 3x3+5x

4x2-6x
4 y= 12x2+6x-7

3x+5
2 Describe the sample survey.
gfagel adeyor & faggar fifaw |
Or

Find Arithmetic Mean :
AT ATET AT HifaIv:

Age(year)
35 (av) 0-10 10-20  20-30 30-40 40-50
No. of persons
okl r @&ar 5 13 25 31 35
3 Attempt any two questions in 150 words each. Each question carry 3 marks.
fregr &l vt & 3R QST | 9 A 981 T 3R 150 Asal H ST | IAd T4 3 31
HE|

1 Explain the long term components of time series.



FTel Aol & EFlelled TUCH & IR H JHSATST |
Discuss the Consumer Price Index

SUHIHT Hod Hohlch H SAEAT ST |

Explain the Production Possibility Curve with example.
3CTE0T Higd 3cUTGs HHGAT Ish & aR H Id=Y |

If demand function are P=8/x+1-2 and supply functions are P+1/2(x+3) the find
consumer surplus.

I AT FBoled P=8/X+1-2 3N qfet ®oleAP+1/2(x+3) &1 ol IUHIHI &I Fad AT
Hifaw |
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Note : - Answer the all questions. Question Number 1 & 2 have internal choice. Question Number 3
has four short answer type questions of 3 marks each, out of these you are required to answer any two

questions.

Tl 94T & 3R QTS0 | 9 TEA1 1 G 2 A RS TTA I AT §|  Tedeh 94 7 3
BT | IH EEAT 3 A 4 THRICHS T4 8, T Icdeh 3 3o & §, g & H9enl fohogl 2 FaT
F 3R A § |
Note — Answer the following questions in 500 words.Each question carry 7 marks.
fFIfaf@d 9%t & 3aX 500 Asal # STAT| TS 94 737 HI 7 |
1 Explain the Characteristics of Arithmetric Mean and Geometric Mean.
AR ATET T4 I[UTcHS AT i [aeard aarsa:

Or
The matrices A,B,C are defined as follows:
A=2 5 B=1 2 1 C=2 2
0 1 2 00 0 1
5 0
(a) Calculate AB
(b) Is it true BC =CB
(c) Calculate A(BC) and (AB)C .Are the equal
HEFT ABC 30 TR f&F gU &
(a) AB TA=IfeIw
(b) BC=CB g?
(c) A(AC)TUT (AB)C JTd HIfST | T Ig ST g7
2 Define regression. Why are there two regression lines? Under what conditions can there be
only one regression line.
JdaereeT Fr g ST | Tfi9eaeT @0 & F47 gidr & ? foher aRfEufaar &
hdel Teh & YdIIE9THT 3@T &l Gehdl ¢ |
Or

What is the difference between Census data and NSSO data.
SUTAT 3TehaT H 3R TERT 362N TIEIoT TIST o 3hsr H FIT 3ok 6?2

3 Attempt any two questions in 150 words each. All questions carry 3 marks each.



fhegr &Y g & 3R QAT | IAF 9% FT 3R 150 sl H QA | T AFTH 3 3
HE |
1 Describe the meaning of set and notations.
T & 31 UG Heholol &I fadwaAr ST/
2 Solve the following equations using Cramer’s Rule
A & [ATH T 39T W AFd FHROT gol HITTU-

X1-2x2=3 3x1+5x2=20
3 Explain the following functions

[T wolAt dr sgrEaT AT
i Demand Function
AT Telel
ii Supply Function
qict Horet
4 What is matrix? Explain the main characteristics of matrix.

Afera a1 § 2 At &1 AEg [@AATAW sy |




